Polynomials - Simplify 7 monomials and fractions with 1 variable:

Simplifying monomials and fractions with one variable:

1 3 1 5 1 2 1 3 5 2
1) p-3p°+1=+1-p?’+1-p+2p°-3= 2 Sr-2=+4=+2r+-r*+1-r+1-r°
) p-3p 6 8p 2p P 8p ) 2 3 6 4 7 3
1 1 3 4 2 1
3) ~m+1-m’+-m’+6m-1—+3-m-1-m°
6 2 7 7 3 2
6 1 1 7
4) 2a+— +2§a3—33——a+2+4§a 5) x3+—x+11x2+8x+4§x3+7x3+—x
7 6 7 3 5 6 4 7 8
1 5 3
6) I -2ixr1d o3t 120 7) 37n-13 4 7n-32% + 14 200 + 31
3 2 5 8 4 7 8 4 5 5 2
1 1 3 2
8) ISP L M P INE L 9) 2l _1ii3 5 a2l 12y
4 4 8 7 4 8 4 3 8 3 7 8

10) 32 11322 138,31 000t
7 73 8 4 2 6
11) 1-132 4120433201 40t g1
2 6 4 5 6 7
1
12) =x° - 1552 42252 128 4 22y 135 125
2 8 3 6 4 "8 "6
1
13) sti13en2o1iitiinoat
6 4 4 2 5
1 1 .1 745 1 1
14) 1=-a®+4=-a+ 1la- ol taziglas a3
2 g8 2 8 3 2 4
1 1 2 1.1
15) 4=p+2p° +2=p’ +4=p° +8p+2=+=p°
) AP H2p 2o pT AP 8P 2o+ D
1 4 4 1

16) 31—1n+1—n —61n+1§+1—n+4—
2 3 8 6 8 7 8
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4 5 3
17) 2352 +13 +22p+ 13 + 1102 + 253+ 2p
7 4 "3 T4 "8 T 7

1 1 4 3
18) 15 - 150 14t s Ixe 22 1 2xa 3y
8 3 5 6 4 7 4

2 2
19) 23 12y 2y 432+ 53432 —gx
4 57 3 "3 3 6

1 7 .2 1.2 1
20) 1=xX° -2—+1=x3 +1=x—-— + 2252 + 2
2 8 5 5 3 6 6

21) 3k° - Leride12iatier ol s a3
5 7 7 4 2 7

1 2 1 3 4 1.3
22) 1-p?-15p3 +1-p*+ 2> +—p*+2-p-1°
)L P g e g el

1
23) 1-27x+35e e x-11 43824 2y
8 2 2 7 5

2
24) 120+ 20° + 1503 + 42— 1502 + 103 + 1.2
33 5 3 77 7 2

4
25) PENPLICHG SIS CICI-E e
4 8 4 6 4 5

1
26) 62121 +12 3L 4 Tra o2 -2t
7 75 4 2 6

1 1
27) 1102+ Indagnz -1t -3 124 1
72 2 4 5 3

2., 2 5, 3 1 5

7 8

30) 1§b3 T 3g - 13b2 + Eb3 +7
4 2 2 7 7 3

7

1.1 2
28) 2+r8+3=+r-1-rP+ = +>r 29) 1= +3x° +1=x* + 4= - =x°
6 3 3 4 3 8

3

+4>
8

—X
7
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5
31) sk+10 4103 + 15 r 3t e 22 3 he
7 8 7 2 6 3

2 1
32) =+ 22102 + 430+ 402 + 25 + 3200 +
3 6 4 2 4 "3 2

5,. 7
33) aixe - 12x+1Ex-2- 22+ Ly - 12y
8 7 T2 778 5

1 1 251 1
34) x> +1=+ 132 48+15¢ + 13 - 12
6 3 5 37 3 3

2
36) N LR LI LN PP
7 3 8 2 6 7 8

1 4
37) 134ovettvenlteagted
4 2 7 2 8 5

1 1
38) 43% =20 + 1253 + 153+ 2x2 + 23 4 x
5 3 6 2 2

7 2 1
39) RPN L I PR
8 3 3 6 2 5

1
40) oligtiesade ottt
2 8 4 4 3 2 "4

1 1 7 2
41) n*-=n®+=n° + 130+ 02+ Zn0 4230
3 2 8 7 8

42) 121 eatyoveaat i1l g3y
5 78 4 2 "3 7

2 1 1..74.5
43) 132120 412+ S -2t 15053 4 22
6 2 8 7

1, .1 .14

1
44) 2 -2=x*+1=-2-X REN PN
6 8 2 5

1 .1 1 1 1
35) 4= -2+ 1 +2= +x+=x-1
2 3 4 2 37 77

5
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1
45) 1203 +2a+ a3 - 22a+8 - +a® - 212
3 5 3 7 2

2 7 3 2., .2 1
46) atx -2 s Ix-ga2x2+ 252 + 1% 47) 22+ 20+ 13+ 22 + 2+ 22 4 5
2" 5 8 8 5 77 8 6
1 7
48) = ~atne lne12 o131t o g 49) 3l -olaiole? g-1lar4a?-1t
7 8 8 7 5 5 2 2 4 8 3

3
50) 2332 e vtz o1t
5 3 8 '3 2
1 1 1 1 2 2
51) —p’+1-p+2p’+1-p°-1-p+=p*+=
)5p JPH2p FlopT 1o proptHop
3

1 1 3 7 2 3
52) 4=m® +m+1-m®+=m’ + 4—m+—m’ +—m
4 4 4 8 5 7

1
53) —v° - 13vsove N
2 5 6 4 5 8

3
54) =x> -6+ 425 - 3§x2 FEENPNIPEN.
7 6 7 2 2

1.1 2 2 4 1

55) = +In2 + 1502 - Zn -2+ 80— 2nd 56) 1353+ 2 +13p+ 1103 - 2432 - T3
7 5 4 3 7 6 5 4 2 6 6
1, 1 2 1 1,1

57) 1 -laro+ 2 -3lar ta3-12a 58) 12 3@+ 7 =12+ 1 2%+ 1k + 2x
2 6 7 6 3 3 5 7

1, 5. .4 .2 5, .1 .1

59) —x* —1=+3— +3=x+4=x*+ 1= +1=-x
4 6 5 3 5
1 2. .2
60) 1-k* - 1=k +—k* - 12K+ K3+ 4202 + 45
2 5 3 6 8 4

4 1
61) —x° + 1553 + 425+ 6x2 + 4% + 53 + 2x
7 2 3 3 3
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4 6 7 1 1 4
62) — ——VP+ VP + = + v+ e
5 7 8 2 4 4 5

5
63) 2 332 32 ot 732
6 4 7 5 6 6

64) 2 - TSI LR S L
7 4 8 6

1 4 3, 2, 1
65) 1-k> +3—k+7k®+=k-= +4= 22k
2 5 4 3 6 8

7 2 1
66) 353133 e 1t - L aalys 504 2y
4 5 2 8 6 5 2

1 1
68) a2m o+ tno o2+ e e dn 3Ly
3 7 4 6 8

2 5 2 1
69) 423 +2 16+ — Sx 153+
6 3 6 5 4 2

71) 11— g+ 1252 4 53 + 2x 4 32 - 31k
2 7 6 2

5 1
72) 223224142 33, 958, Ls 2
3 7 5 4 6 2

1 1
73) 2o 132 -2l rastais la
7 4 6 4> "2

2 1..2. 2 1
74) 12me 41t 432 4 S - 13m0 4 2 -2
5 4 7 7 4 7
1
75) 2o ad-ix—12 402 4ty

6 5 7 8

1 1 6
70) 2-tasa3a+t2 B 1221
2 8 2 7 5

2

3
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1 1,1
76)——31v2+—v3+—+1fv+1§v3—33v
2 2 8 5 "7 '8 3

1 1 7
77) 13x-3h0 1t g2 Dy
2" 7 77 4 4 5 8

78) 6n° + 1213 2t Canzegane
5 7 3

1 1 1 .1, 1 _1
80) 1-v+ IS W JEPL Y
37 3 2 7 6 8

7 1 2
82) —x3—1§+—x2+5x—1g+1+—x3
8 8 2 5 7

1
84) 11t radie -1t iaite st o
772 5 2 5 2

1 5 1 4 4
85) =n’-2n+-—n--n®+-— + 222 -2,
2 8 3 7 6 5
1
86) 2 seatyiteial 13045t
5 7 4 8 5 2

87) 2 +3- 4412+ ox+ T 424+ 2y
3 3 3 3

5 1
89) —m?+8+—-m+ 112 o 12 et o
6 3 6 7 2

90) A2 -1+ 2+ 2- e s he e
4 5 3

7 1, 3 1 4
91) 2—v+1-v:+ V2 - 2v— V3 + 4=y - 3—V?
8 6 4 2 5
4 , 5
92) A S B o L
5 8 3 2 7 4

1 2 1
79) 4n® - = +11—4n3+4§n2+—n+_
2 4 5 3 2
2 1
81) 1328 - 2041t _sa-32a0 4241503
5 3 6 8 4

1 1 1
83) =x*+-x+=x>+x* + 12x+1% 1410
3 4 8 5 7 3

3
88) 1202 -5+ 42 - Sn-13 43tz -3l
3 4 8 3 2
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3
93) = ~3tmest oot omertm -3
4 5 3 5 2 5

3 2
94) on? + 304350442 + 202 + 1+ 420
4 "3 6 5 6

1,.3
95) 120+ 12 4343507 4 420% + 20 + 2
5 3 6 3 2 4

1 .2, 6 _1 1 4 1
9) = -3=x*+—= -3 +1=xX +4-x* - 1°%°
6 5 7 6 2 7 4

1
97) x+7+152 11 4024t
4 6 5 2

3 1 3 1
98) 2252 +1233 4 Sx+ 1y = 24 552 = 1y
7 3 5 6 4 6

5 1 1 7 1
99) 7p+8pl+—p-—p2-1-p>+7—p2-=-p°
) 7prEp 8p 2p Zp 8p 2p

4 1 7
100) 12 e+ il 23t
7 5 2 8 2

1 .1, .2, 1 6 1,
101) 2= -1-p?+65p?+3+—p+2— +—
) 2g 713 T OgP 10" 11" 6"

1. 3 5
102) 513 = 2042 4 k- 2 - 11 + 15K2 - 2k
8 10 3 10 2 5 6

4 1 3
103) 12 13213 i S el
10 "5 7 4 4 8 6

1 1..1,. 1 1
104) 1=m® - 1= +5=m* +=m- 22 + T -3 -2y
5 2 6 3 9 2 11
1 4
105) It ST BPIC I o s SO
7 3 5 7 5
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7 1
106) —x° - 12+ 6-2x2 = X3 + 42x + 233 + 5052
12 3 10 2 2 11

1, 1 7
107) 12130 e Lo e e
3 4 2" 6 11~ 8

5
108) 1112855 2 ot sl gl
3 9 2" 7 4 2 2

2 5 11 1 2
109) 5r3 —=35r + ~r +3=—=r3+1—r2+r2-15r
3 8 12 11 5

1
110) 2t e 6 2mP 6 4 5P 4 22 + 622
4 4 8 10 10 8 7

7 5 1 3
111)———n2+1§n3—— 2+6§—15n
1 9 g8 2 7 6

112) lk2 - 33k 238 3242 _ 5k + 1242 §k3
3 11 10 7 11 4

6
113) —n®+ 6202 +1-2n% - 2n2 + 5= — 2n?
7 4 3

2
114) PRI L R AL I T L
2 3 3 8 10 7

4

1 1,, 1
115) 5103 + 62 + Th+ 2102 + TpP 4 TpP 41
6 9 6 4° 2 4

5
116) —x+ 2821 ot iatiise 11y
8 11 10 5 2 2
7 I S
117) 6507+ 2p% + 2 pP + — + +5=
) p p° p p 12 3P 55

4
118) 5t 11,41t 2+12x+—+63 s_q1
3 12 7 35 11 5

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-
- 8-



3
5

1 1

1
119) PRI IR I TP T P SR
12 2 6 6 2 8

4 3
120) 12r3 +— + 4-1 + llirz +—r3 + r3 + 1§
1 "6 10 4 5

1
121) 10-32a+2° —a2-2a+32a2+
11 7 11- 8

1 2. 2 7 2 4
122) =k —-1-k+=k®*+3+4—Kk* +1-k+1-k*
4 3 7 10 5 5

3
123) 18 m 1t 2 o2 3 o
11 2 4 6 5 12

1 2 5 5 .9 2 1
124) 4=p*-1=+4=p°*-3=-3—p°+1-p°+1=
) AP T AR T3 TP TP

125) 1Tz -1l 4 ng in?—1E a8y 51n
12 8 3 2 9 9

3
126) 4%+§n+6n+n2—7+4n+2n2

5 2
127) 12 me62m +43m+ > +25m8 +12m° - Zm
5 5 4 9 3 3 5

6
128) 13l xroxe5t o 22124113
4 12 4 11 11 4

5 5
129) =x* - 13x+2x-3%5¢ —12 12 -3k
9 77 3 2 5 6

2

1 2 2 1
130) 1=b*+1-b+4=-=b?*+4=b+1 3
5 5 9 3 7

3+ 4112
4 8

1 1
131) devstil ot est
8 8 5 2 3
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3
132) 423 —22 14t 12 e X2+ 1L 4 2%
10 3 2 10 4

133) 2322122 120 stz 1l o2
8 3 6 3 9 3 5
1
134) m®* +—m+ 512 + 8m+ 42m® + 2mP + 21m
11 11 6 9
1 7 2 2
135) =x*+1—x3+2-1-x-—x*+3= - =x
6 12 9" 9

136) 1 +k3+9k3+11k—k2+4i+3§k
2 2 10 3

137) 1102 —2b+61b- 2202 + 20 + b2 - 1117
2 4 10 2
138) 1222 ront 4 12304 an + 1n 1l
3 8 3 8 3 10

2
139) x+ 11418 1l 2iieliole
3 7 4 3 2 2

1, 1 .2 .4, 8, 5
Sp?+5-p+ +3-p2+5-p?-1>
3P TP TP TP Ty

4 3
140) 2—p° -
)gp

3
8

7

141) k* - 28k o 1L 10— 12k
9 12 11

7
142) 13xr1 23 120+ L rale 22
5 2 10 779 T2 6

5 1 1 1
144) 12841t 2ty gL
7 3 11 2 2 2 9
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3
145) IRFELNCIE CHPE DL S ke
5 77 5 2 5 4 3

1
146) —n® + 112 ren2+ 1in+ 3 0t 4 1302 - o
9 6 7 9 7

2
147) —+33a+11+42a + a+2ia —1i
10 7 8 7 3 11 11

2 2
148) 5—n+—-n*+10n-n°+ 6=n? +12n + 8n?
1 5 7

5 6 5
149) —x - 12248 4480 11 20y
11 3 7 11 2 12

150) SEm3 -m+1+ 6gm B 3im2
3 5 3 2 11

151) sy ol yst —lx2 C1txealye 3E
12 100 T4 7 10 10 8

1 7 4 4
152) = ——m+m’* - 1+—m+ 1240
3 12 9 7 9

1

1
153) 10b* - =b® + 1= - 3203 ~31p + 1002 + 358
6 4 5 5 7

1
154) 13022 ne 2283 3 L1tz _op
4 9 4 9 12 2

5 1
155) 1+a+— f2at—ad+ataio1
11 12 2

5,. 10 1 6
156) =n” + 432 132 Loy o2 0
6 11 12 "5 9 6 7

7 1, .1, 3
157 —1ealaatp it s
) p 5 p L L
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158) 22— 122 + 5% + 221 _ 72 4 5+ 5242
8 9 1 3
7
159) sy s+ - 22543+ Lo
12 77727 g

160) — —1=p3+2p®-3=p° +— +—
)8 2p p 5p - 7p

6 4 1 1
161) — +11x> +6—x+ 1= — 123413 + 1y
7 5 8 6 4 6

6b2+ b3 ; 428 39

162) 3— A 52241
1 12 11 10

1

163) ol —12r+1tri23 13160124231 1404
8 6 4 10 8 ‘4 '8

164) 138 -322 42+ 1383 +a+a-11a°
4 6 5 6

3
165) 21 3 sl siae 140t o0
2" 4 12 2
7, 1 3 1
166) Te-tigte3pagtialy Ly
9 2 11 4 2 6 3

2 5
167) 1 m2 - Zma 2me 6t 4 5m2 + amd - 3402
2 5 9 6 5

1 2 3
168) =r*+ atre S 1l et eaios
4 4 11 "6 4 7

1 5 2 1 1
169) 4—m+-—m°>+4-m-3-m*+10+5-m-1
2 8 3 8 3

3
170) 42 x3 15x+11x3+—+3%x2+6+51x

11

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-
-12-



1
171) 1tz 2 it ysle it i1ls6 8y
5 10 7 2 12 2 11
1
172) 1Z - 31x + 6§x +5—x° + 6E +—X+=X
3 2 7 11 7 1
5 7 1
173) = +—n+ 5202 + = + 520 +n? -
8 8 5 4 3

2 7 2 4
174) 20y o +2 43033 4 62x+ 2x 4+ 5y
10 7 8 3 11

8 3 1
175) —n+ 120241302 2120 -3+ Lo o2
9 9 4 3 5 4

1,, 3 4
176) 2+ Atz el o312 10p4 2
37 2 4 5 7

5 1, 1 .7 1
177) 11+ —x*+4=x*+= —1—-x3 + 1824110
9 2 9 7 5

1
178) 9v + 128 +5 02+ 12y 1523 45y - 12
5 11 7 8 12 2

2
9

4

5 3 2
179) 2=p3-p?+3
) gp P 9

3 2 3 3 1
+1°p2 - p*+3-pd+ 1=
p 4p Y p 5p

55.5 2
180) =b* +— + 5102 + 50 +51p3 + 4 — Zp?
6 11 11 9 2 8 3

3 1 1 1
181) 1302 -1 3+ 2 443 4 T2 4 I3 - 12
3 10 4 8 4 2

2 3 7 1 1
182) 4-a’-—a*+5—+1—a’-1-a+ 6202 - 3>
37 10 8 11 5 6 8

2 1
183) 11ﬂr + 2§r2 +=r - 11r3 -+ Slr + 4lr2
7 7 5 3 11 12 12
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5 5
184) 2n® + 1> n+6-32n + 620+ - —n?
12 3 5 6 12
185) 412 o450 45102 162 x4 1153 + 4«
10 10 8 11 11

4 7 1 2 ,.1
186) 2p° - 1—+2—p°+6=-10p° +—p* +=
T LI

1 2 7
187) b® + 6= +b? +42+p+13p+alp?
3 3 5 12

1
188) 5 123 +2-2 183 +1°a2 + 8102 + =43
9 6 12 9 3 9
7
189) —v? — 11122144 31l
8 5 11 9 11 3

4
190) 522455 1242 102 460 g
6 3 5 9 8

2 6

191) 3203 31402+ 53 a2 g1 e O
11 2 100 3 12 127 11
10

192) — R332 4415 -1l 452242
11 7 7 8 12

4
193) 12x+ 23 + 02 2128 _111104 52
3 9 7 2

1
194) —v-— +5-v3 - 1= -2=-v+3v*-1-v
7 6
1 1 10
195) 1-p° 1—p 1= +1-—p? —1§p —p 4— p

196) x* —§x +58 2 46! 2.
4 9
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3
197) 1452+ 4202413 Zonsn-en?
5 7 4

198) 12m+ 2t i 6t s 6ime 52 +22m+ 2m?
2 5 2 1 3

1 1
199) a° +=a’ + 3la-t@2+ad+12a% -1
2 6 2 8 8

1,15 ,1 1 2. 1
200) b*-1=+=b*-1=b?*-3=b+1-b*-=
6 3 5 5 37 3

19 1 3 2 1 3
201) 4p®>-3—-1=p?-4=+1=p°-1-p?-4= +1
) 4p 20 4IO 4 3p p 4 p

202)1133 1§n2—5§n3 ot 114 58 NCE
16 4 19 8 15 19 8 15

203) 10k -19-1+ -2 -Le g1 S _Lia
6 9 3 16 9 3

1 1
204) 83 +10 st 1) el te 19,
9 11 18 2 13 18 2 13

6 11
205) 2p+t oty 10y etz o2t o 10 b -6 tp?
17 15 ‘6 19 5 ‘6 19 15

3
206) 52x-> 53 13, 1; 3

S53-13x-11y0
177 5 8 5 8 5 7

4 4
207) 6-1r3+119 323 4 52 325 2
14 1° 3 13 9 3 13 9

2., 11 1 .1 1 1 .1 1
208) 6=V +9—v-1-+1-v-1—V*-1-+1-v-1—V
3 14 2 79 170 T2 7o 17"

209) 3— n+13n —12n 47n2—41—3—1gn— ! n? 41—3
9 5 9 8 15 9 8 15
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1 11 1 11 1
210) 1t el 1, s0s M 1,
11 11 19 19 20 19 19 20

1 1 1
211) 122 13- T w172 4 Sx- 1 s
7 4" 3 19° 3
2 2
212) 72 3+ 18- 0% - L3118 - 952 - 23
17 77 11 77 11

1 1 1 1
213) 68a- L v1-13p+1tar1-130 411
19 11 4 4 4 4

214) 7221 056 g 13b2 10 b3 PN o 13 b2
16 17 13 13

215) 12 -1t — 12 -2 8 et o3 08 gt
6 3 6 11 2 6 11 2

3 3
216) 18 - 19 x-2 oty 3 o1 155
15" 11 13 8 11 13 8

218) 12 o7tz s3 113 3t
17 9 14 5 4

12

11
219) 1-1— L2 _gl 3
13"

-8 v+ —Vv -1—
13 3 16 13 3 16

-1

3 5. .3 7 5 5 7 5 5
220) 25 p? +2p®-2p-—p° - 6> -2p-——p° - 6>
L T N TLINF

2 14 , 14 1 14 1
221) 1—V2+3—V*+17-1—V* -7V +17-1—V* - 7—V°
11 19" 190 11" 190 "1

222) 102 43314 _sle gL q4s gl 41
6 10 9 2 3 9 2 3
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2 2
223) 2x° - 1 x— 1L 4 22 4 ox— 113 + 252
4 10 5 100 5

3 1 1
224) — - 130215052 1 gl glde 1
14 "8 4 157 2 4 15" 2

3 3 3
225) 12x+——2i 1£+—X2—2£x+1£+—x2
3 16 16 12 20 16 12 20

4 1 1 .1 1 1 .1
226) 6oat+18 -t r1l pta-liil i,
11 7 2 3 4 2 3 4
227) 11 45— ax+1- 1358 -3x+1- 1353
3 8 8
228) 13+ 6k - 52k + 1543 — 1282 52k + 1543 1122
14 6 4 13 6 4 13

Sz i, 1 8 L., 1 48

220) 83r+4
13 20 T10 79 ‘20 "0 o9

4 4
230) 5in+8 L —72+1inze T3zt iatinzy Ly
4 12 2 3 13 2 3 13

5 1
232) —x+ 1i —X+ 3=
6 17 5

233) v+9— 12 _gly 523 12 gl 528
17 "3 2 13 3 2 13"

32 ;1 1,1 1
234) 22432 119, g0 o1 410, g0 5t
8 5 17 11 5 T17 11 5

235) 1013k 13—6 k- 51—Ok2 21le etk slok2 21l
18 13 19 11 20 19 11 20
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11
236) st e 10l 538,409 10l 513,100
6 14 10 20 19 10 20 19
1 1
237) 33212t gl g2, 12 gls 32
11 3 14 2 9 14 2 9
2 1 1
2398) 33042 732 52041 732 525,31,
14 11 10 16 2 10 16 2
3 3 3 1
239) —x°-3—X-1—-7—X"—-8=-X-1—-7—X"—8=X
1 2
1 7 2 7 2
240) —r¥+1+2-—r3-—r+2-—r3-—r
20 15 19 15 19

13
241) 6r - ox-130 62+ 1t~ 128, 6241
3 15 717 71T

18 18
2

242) 18 a-221-928 1102 1-9>g -1 g

13~ 3 16 11 16 11

1 1

243) 3K+ 105K -1 k-t —g e — 1 k-t —g Ly

11 14 17 2 10 17 2 10
244) PESIE R SRR I S

2 13 10 2 10 2

14 14
245) 12x+10- 23 - ox - 1> —ghe 1013 gy
3 137 190 14 9 190 14 9

2, 3 5 12, 3 5

7 1
246) —V? - —v - -
15° 10 13 10 11 13 10 11

1 7, 8 7 17, 8 7
247) —n® EPL: JRVE LS T AN PNPE X T A U
6 9 18 15 '8 18 15 "8

1 1 1
248) 13+-m- 12 12 me o1t 1 2 o
3 11 12 11 11 12 11
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Polynomials - Simplify 7 monomials and fractions with 1 variable:

Simplifying monomials and fractions with one variable:
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